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nstructions !

i}  All questions arc compulsory. ()

il Question Numbers 1 to 10 ere Muitiple Choice Type for which only correct
answer should be wrilten in the answer-book. Question Numbers 11 to 18
arc Very Short Answer Type, which arc to be answered in about 50 words
cach, Question Numbers 19 mg are Short Answer Type, which are to be
answered in about 150 words gch and Qucsuon Numbers 25 to 27 are
Long Answer TYpe, which are to,b¢ answered in about 300 words cach,

N : :
i) Allotted marks of all the questions arc given agamnst them,
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Write the correct answers of the following questions in your answer-book :
1. “Supply creates its own demand.” This statement is given by

a} Ricardo b) J.S.Mill \W Say d} A.C.Pigou 1
2. “Moncy is the pivot around which cghomic science revolves.” Itis a statement of

a) Adam Smith b} A.C. Pigoq.cg ¢}/ Marshall d) Crowther 1
3. The law of Equi-Marginal Ulility“ngmpoundcd by

a) Marshall \})/Jc'.'ons c) Pigou d) Menger 1

3. Under perfect competition, the demand curve of a hrm is

a) Elastic b) [Inclastic

D
\ﬂ/éfcclh' clastic * d) Perfectly inclastic 1

5. If elasticity is equal to 3 and Average Revenuc is Rs. 30, then Marginal Revenue

will be
D)
a) Rs.20 b) Rs.30 8 Rs. 10 d) Rs.90 1
W
6. “Economics is the Scicnce of Wealtik/JThis statement is related to
Q
\/D)/Adum Smith bl Marshall B g uB.say d) Walker 1
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9,

10.

mics ?
Who is known as the father of Ma .
Robertson d) Fricdman

o
n) Adam Smith \B‘/ﬁyncs Ofl

;mate Nationat Income in India ?
Which of the following methods is uscdfg esum ationa

J'-"b] Expenditure method

0) Production mecthod
\,;Au of these
¢) Income method

Which of the following has thc monopoly of notc 15suc in India ?

scrve Bank of India
a} World Bank g'/ﬂc c Bank of Indi

¢) Commercial Bank d) BExm Bank

Balance of trade is related to

a) Import of Goods op) Export of Goods

o
Import and Export of Goods GX) None of these

il.

11.

12.

12,
13.

13.

14,

14.

15.

15.
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{ Very Short Answg'l‘ypc Questions )

TEHS N |/ R 7
What is Positive Economics ?

3R ITEITRT R M9 0 o9E § 7

What do you understand by Average Ui}y ?
AR AP TR 7

What is Opportunity Cost ?
FARWH TR 7

What is Indifference Curve ?
Wit aa %1 vionfe A |

Define National Income,
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16, wordl Tepd 7 @ § 7
3
16. What are Intermediate Goods ? 8
© 3
17. R & & 9= Ff Tamm | %
o 3
17. Statc three functions of central bank. H
| 3
18. 3RLS Jaml) 7 ofonfie A 1
(8. Define Involuntary unemployment. 3
(et A )
{ Short Answer ‘l‘%c Questions )
19. fRr ¥ & vRwat & Frm 6 afi wmen R 6
19. Explain dingrammatically the law of CorfSant Retumn to Scale. 6
o .
zo.mmﬂmwmﬁ?maﬁaﬁ?gﬁﬁwﬁmh 3+3
O
20. What do you understand by demand Iu@ion ? Why docs a demand curve fall from
left to right ? 3+3
21. % ST R 39 AR & 7 6
21. What do you understand by clasticity of demand ? 6
22.mmmmuﬂum=ﬁmm=ﬁﬁm 6
22, Explain the Gross National Product at Market Pricc. . 6
23, Wl waz 3 rdzs w1 (Allocation) 3R TR Fd (Re-distribution) T v HfaT |
8 3+3
on function andZye-distribution funct
2}, Describe the allocation function ﬂﬂd%F n function of a government
budget. E 3+3
%009 ° | Turn ove:
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24.

24.

25.

25.

26,

26,
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What do you understand by supply dl’c-;“"“‘-"? Explain the three factors affecting it
w
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{ Long Anawer TYP® Qucstions |
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Rl 0 weral A i I, Siea oo S dna are ¥ v wau R @en A 10

What is law of Variable Proportigd ? How many stages of law of varable

-
proportion are there ? %) 4+6
W
o
D
Explain with the help of a diagram the relationship between Total Cost, Average
Cost and Marginal Cost. 10
o wfvdfen A sEuen we SR | e i eI TR WM dNL 7 4+6
U
Y,
e IR, NP TR, 741 KR A 6 AR Ht Fe | 4+3+3

Explain the concept of Perfect Competition. How is equilibrium of a firm attained in
the long run ? D 4+6
(&
(OR
W

Explain the concepts of Domestic Prguct. National Product and Personal Income.
LAY

4+3+3

8009 D



7
a7 mﬂ]ﬁmmmmmmhmlmmﬂmm Rifie A & AT

R? O 4+3+3
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N
Ot
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Reé¥fra snteraen § s Frofm A aRgasmen AR | 10
27. Writc a short note on Forcign Exchange Rate, What are meant by Fixed and Flexible
Exchange Rates ? 4+3+3
D OR

Explain with diagram, the determination of Income in 2 Two Scctor Economy. 10
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